g/dl

. mg/dl
=R IO—1 4
L —~— ATBH4E
6 —— s
15
5 12
-t oo—g 9
4 —— \ T4
6
—— it
3 3
0 28 78 258 548 1048 0 28 7H 24 B 548 1048
(£4#) (%)
MEEABOHER MERFEEZDHER
D2 miEREERER: BRLTED
MienisE | 24
- mgldl
210 150
- on—4
g TiMSO—
—— \TiBH4
—— ATHE 130
—~—
190 —apy
110
120
90 50
60
70
30
0 50
0 28 78 248 548 1078 b, B 7 2wA bwR 1bwA
(E#) ()
M;FILATO—ILOHB MEDHR
<3 25




300

200

100

HiEEIo— 4
AT SF

——®E

cm
140

120

100

80

——igRon—14
—— A\IEEF
e 3%

0
0

(£#)

2 4 7

FEDHER

60

B8 (£#&)

At

AED#EE

FHpEso—28(n=3),. BRF (n=3)B LV AIER

F(n=3 )DEEOHE(RILAIALE- 1)
(ERBEEZEH20054%) 26

25.0

20.0

15.0

FA )

5.0

0.0

*ok Hok

* NS kNS
16.4
14.4
8.9
4.6
1.9
0.8

FEE ERER

B yo—> 4(n=451)
W&t Hn=124)
B — 24 (n=566)

GE)

* O5%MEERTEMN
HBLEEZD

* % :90%MFEETEMN
HHEEZD

NS #EHEMIZE LR

ks o—2 4, BREBIU—BEFICEITOE

CHEBEIE(RIVARAL -, B EMiE- i)

27




